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RELACAO DO ACO
P1 P2 P3
P4 P5 P6
P7 P10 P13
P14 P23 P24
P26 P30
ACO N DIAM | QUANT C.UNIT | C.TOTAL
(mm) (cm) (cm)
CA60 1 5.0 390 24 9360
2 5.0 156 97 15132
3 5.0 48 64 3072
4 5.0 150 29 4350
5 5.0 95 127 12065
6 5.0 38 84 3192
7 5.0 25 107 2675
8 5.0 10 74 740
9 5.0 168 29 4872
10 5.0 72 87 6264
11 5.0 24 64 1536
CA50 12 10.0 71 347 24637
13 10.0 11 75 825
14 10.0 41 388 15908
15 12.5 52 94 4888
16 12.5 26 347 9022
17 12.5 12 397 4764
RESUMO DO ACO
ACO | DIAM  CTOTAL | PESO +10%
(mm) (m) (kg)
CA50 10.0 413.7 280.6
12.5 186.7 197.9
CA60 5.0 632.6 107.3
PESO TOTAL
(kg)
CA50 478.5
CA60 107.3

Volume de concreto (C-25) = 3.57 m?
Area de forma = 57.40 m?
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Resp. Téc.:
EDUARDO FELIPE LUIZ FLORENCIO
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CAMARA MUNICIPAL DE CANITAR
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